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Questionnaire on International Comparison of Corporate IT

Strategies

This survey is being conducted by The Research Institute of Economy, Trade and Industry, a research
institute of the Japanese Ministry of Economy, Trade and Industry, as a part of its international
comparison study on IT strategies. We ask your cooperation in this survey.

Respondent names or individual responses will never be made public. All of your responses
will be statistically processed in computer and used only for the purpose of the survey, under
strict confidence.

I

. About your company'’s overall IT system

Q1. Which of the following types of organization best describes your company?(SA)

1.

2
3.
4

Independent company not belonging to any group companies

. Parent company of domestic group companies

Subsidiary of domestic group companies

. Subsidiary of a foreign company

Q2. Which of the following corporate system does your company adopt? (SA)

1.

2
3.
4

Single business company

. (Multi-) Divisional system

In-house subsidiary system (company system)

. Holding company system

Q3. What is the ratio of your company’s IT expense (including hardware, software and system

AR T < N

outsourcing expenses) to the sales on the fiscal year 20067 (SA)

Note : If your company is a financial/insurance company or alike, please provide the ratio of “operating revenue”
or other financial item equivalent to “sales.”

Less than 1%

1% to less than 3%
3% to less than 5%
5% to less than 10%

10% or more
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Q4. Which of the following best descries your company’s IT investment (including investment in
hardware, software and system-related expenses) during the past three years? (SA)

. Remains almost the same

1. Inan upward trend due to new projects

. In an upward trend due to a rise in IT system operation cost

2
3
4. In a downward trend due to reduction of IT system operation cost
5

. In a downward trend due to the reduction of new projects

Q5 For which jobs does your company deploy IT systems? For each of the jobs, please use

3-point scale. 1 is "The IT system that was deployed 3 years or earlier is currently operating,” 2 is

The IT system was deployed within the past three years (including major change of the existing

system) is currently operating” and 3 is “No IT system is deployed.” Please answer one that is
applicable for each. (SA for each of (1) to (11))

The IT system @ The IT system @ \q IT
that was : that was _
deployed 3 . deployed within system is
years or earlier - the past thrqe deployed
is currently - years is
operating currently
operating
(1) Personnel & labor/salary management 1 2 3
2 Financial management/accounting 1 2 3
procedure
) In-house information 1 2 3
management/document management
(4) Supporting  business  strategy 1 2 3
development
(5) Market analysis/new customer 1 2 3
development
(6) Customer information 1 2 3
management/sales Support
(7 Production planning/production 1 2 3
process management-
(8) Inventory management 1 2 3
(9) Design support/technology Information 1 2 3
management
(10) Order handling 1 2 3
(12) Physical distribution 1 2 3
management/product delivery planning
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Q6. Has your company deployed Enterprise Resource Planning system (ERP) within your
company? If yes, which point between (1) “packaged software” and (2) “the business process” is
your company'’s position of deploying the system the most applicable? (SA)

1. Has deployed packaged software (ERP software) with a view to modify the business
process based on the software. (adapt (2) to (1) )

2. Has deployed the ERP software with a view to modify the business process as well as to
customize the software (modify both (1) and (2))

3. Has deployed the ERP software with a view to customize the software based on the
business process (Adapt (1) to (2))

4. Has not deployed

Q7. Has your company deployed an inter-enterprise Supply Chain Management system
(SCM) ? If yes, is it within your group companies, or also covering business partner companies

outside your group companies? (SA)

1. Deployed a system within our group companies -> Go to Q8

2. Deployed a system also covering business partner companies outside our group companies ->
Go to Q8

3. Deployed an industry-wide system -> Go to Q8

4. Has not deployed -> Go to Q10

ASK for those who answered that your company has deployed a SCM system in Q7.
Q8. Which of the following best describes your company’s position in deploying the SCM
system? Please select one that is the most applicable. (SA)
1p|ayeda |ead|ngro|e
2. Deployed the system in response to a request from a group company
3. Deployed the system in response to a request from a business partner company other than our
group companies.

4. Deployed the system in response to a direction/request of the industry

ASK for those who NOT answered 4 on Q7 and/or Q8 = has deployed both ERP and SCM
systems.

Q9. Which of the following best describes the relationship between ERP and SCP systems
deployed in your company? (SA)
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1. Completely link in the process of deployment and operation
2. Partly link

3. Operate independently

1. About the relationship between your company’s IT investment and business strateqgies

Q10 Does your company have an IT strategy (mid or long term (about 3 years) system
development plan)? If yes, when was the strategy developed? Please think of the timing when
the current major policy was developed, not the timing when the annual periodical revision was
made. (SA)

1. Has an IT development plan that was developed within the past year -> Go to Q11

2. Implementing an IT development plan that was developed 1 to less than 3 years ago -> Skip
to Q13

3. Implementing an IT development plan that was developed more than 3 to less than 5 years
ago-> Skip to Q13

4. Implementing an IT development plan that was developed more than 5 years-> Skip to Q13

5. Does not have any plan -> Skip to Q13

ASK for those who selected 1. in Q10.

Q11. Which of the following does your company’s IT strategy/investment plan cover? (SA)

1. Our company alone

2. Our company alone and entire group companies
3. Our group companies only

4. Other (Specify )

ASK for those who selected 1. in Q10.

Q12. How is the IT strategy/investment plan positioned in your company’'s management

strategy? (SA)

1. Clearly positioned as one of the management strategies
2. Not specified in the management strategy, but the policy is consistent with the managemen

strategy.

3. There is little connection with the management strategy

Q13. How important is each of the following issues for your company to address as business
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challenges? Please use 5-point scale. 1 is “The most important,” 2 is “Very important,” 3 is

“Fairly important,” 4 is “Somewhat important” and 5 is “Not important.” Please select one that

applies. (SAfor each of (a) to(l))
1. The 2. Very 3. Fairly 4 . 5. Not
most importa - important . Somewhat - importa -
important : nt important nt :
(a) Develop new products/service, : 1 2 3 4 5
develop new business
(b) Strengthen competence in the main : 1 2 3 4 5
business
(c) Grasp the market needs and promptly - 1 2 3 4 5
respond to the demand
(d) Develop new customers 1 2 3 4 5
(e) Retain existing customers/enhance : 1 2 3 4 5
customer satisfaction
(f) Improve market analysis/marketing - 1 2 3 4 5
capability
(9) Quicker product/service development : 1 2 3 4 5
(h) Improve sales force capability 1 2 3 4 5
(i) Reduce indirect cost 2 3 4 5
(j) Reduce inventory cost 2 3 4 5
(k) Review/streamline supply chain 1 2 3 4 5
(I) Promote in-house information sharing : 1 2 3 4 5

Q14.

In your opinion, how much does your company’s IT investment contribute to each of the

following items in your company? Please use 5-point scale. 1 is “Greatest contribution,” 2 is

“Greatly contribute,” 3 is “Moderately contribute,” 4 is “Somewhat contribute” and 5 is “Does not

contribute.” Please select one that applies.

(SA for each of (a) to (1))

1. Greatest : 2. Greatly | 3 . 4 . 5. Does
contribution : contribute : Moderately : Somewhat : not
contribute : contribute : contribute
(a) Develop new products/service, : 1 2 3 4 5
develop new business
(b) Strengthen competence in the @ 1 2 3 4 5
main business
(c) Grasp the market needs and | 1 2 3 4 5
promptly respond to the demand
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@) Develop new customers . 2 5 4 ..................... 5 _______________________
(e) Retain existing : 1 2 3 4 5
customers/enhance customer

satisfaction

)] Improve market : 1 2 3 4 5
analysis/marketing capability

(9) Quicker product/service = 1 2 3 4 5
development

(h) Improve sales force capability 1 2 3 4 5
(i) Reduce indirect cost 1 2 3 4 5
(j) Reduce inventory cost 1 2 3 4 5
(k) Review/streamline supply chain : 1 2 3 4 5
() Promote in-house information | 1 2 3 4 5
sharing

I1l. About your company'’s IT organization

Q15. Does your company appoint CIO (Chief Information Officer) ?(SA)

PN R

None -> Go to Q18

Appoints a director dedicated to IT -> Go to Q16

Appoints a manager in charge of IT -> Go to Q18

Appoints a director in charge of IT, who has another post -> Go to Q18

ASK for those who selected 1to 3in Q15.

Q16. Which business background does the CIO have? Please select one that applies. (SA)

1. Corporate planning department

2. General affaires/financial department

3. Information processing department

4. Business operation/sales department

5. Recruited form other company (IT specialist)

6. Other (Specify )

ASK for those who selected 1to 3in Q15.

Q17. How important do you think is the each of the following jobs of the CIO? Please use the

5-point scale. 1 is “The most important,” 2 is “Very important,” 3 is “Fairly important,” 4 is

“Somewhat important” and 5 is “Not important.” Please select one that applies. (SA for each of
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(@) to (h)

1. The 2. Very 3. Fairly 4 . 5. Not
most important : important : Somewhat : important
important important
(a) Coordinate with individual departments ; 1 2 3 4 5
within the company in budgeting/developing
IT system
(b) Develop a new service/business model | 1 2 3 4 5
using IT
(c) Construct company-wide business @ 1 2 3 4 5
process/dedicated responsibility system to
actualize IT strategies
(d) Comprehend latest technology . 1 2 3 4 5
information related IT systems
(e) Select outsourcing companies and : 1 2 3 4 5
place an order related to IT systems
(f)  Take measures  for  stable : 1 2 3 4 5
operation/security of IT systems
(g) Assess/analyze effectiveness of IT: 1 2 3 4 5
system deployment
(h) Promote information sharing within the - 1 2 3 4 5
company

Q18. In each of the following items, which is more prioritized, the corporate IT department or

individual department (user divisions)? Please use the 3-point scale. 1 is “Corporate IT

department is more prioritized,” 2 is “Both are equally prioritized” and 3 is “Individual departments

are more prioritized.” (SA for each of (a) ~(e))

1. CorporateIT : 2 . Both: 3 Individual
department is : are departments are
more equally more prioritized
prioritized prioritized

(a) Placement of IT staff (on a basis of number of | 1 2 3

staff)

(b) Proposing a new system 1 2 3

(c) Designing a new system/using consultants 1 2 3

(d) Degree of influence to the total IT budget 1 2 3

(e) Assessing the effectiveness of IT investment 1 2 3
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Q19. When your company makes a new IT investment, in how many years does your company

expect to have return from the investment? (SA)

1. Inayear
In 3 years

2
3. In5years
4

Do not consider the length of years

Q20. Does your company assess the efficiency of IT investment? If yes, please select all

assessments that your company implements. (Select as many as apply)

1. ROI assessment of entire IT system
Satisfaction survey among users within the company
Assessing efficiency based on KPI set for each job system

Implementing a plan to reduce total IT cost

A

Does not implement quantitative assessments

IV. Questions about outsourcing of your company’s IT systems

Q21.

company outsourced the job to external companies during the past three years or not. Please

For each of the following jobs related to IT systems, please answer whether your

use 4-point scale. 1 is “ Placed an order with outsourcing company with job contents clarified beforehand
within our company, “ 2 is “Clarified the job contents thorough negotiation with the outsourcing company,
then placed an order, “ 3 is “Clarified the job contents step-by-step after the outsourcing company started
the job “ and 4 is “ Has not outsourced.” Please exclude IT subsidiaries of your company from
outsourcing companies defined here. (SA for each of (a) to (d))

[Note] *“Subsidiary” defined here means a company included your company’s consolidated accounting.

1. Placed | 2. Clarified | 3. Clarified | 4. Has not
an order i the job i the job { outsourced
with contents contents
outsourcing : thorough step-by-step
company negotiation : after the
with job § with the | outsourcing
contents outsourcing i company
clarified company, started the
beforehand | then placed | job.
within  our { an order
company
(a) Development of a company-wide - 1 2 3 4
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mission-critical system such as

financial/accounting systems

(b) System specialized in individual : 1 3 4
business divisions (SCM, sales support,

etc.)

(c) Improvement/updating a current system : 1 3

(d) Maintenance/operation of a-1 3

company-wide system

Q22.

Which of the following best described the relationship between your company and

outsourcing companies? Please use 5-scale points, 1 is “Describes completely,” 2 is “Describes

very well,” 3 is “Describes well,” 4 is “Does not describes very well” and 5 is “Does not describe

at all.” Please select one that applies.

1.Describes
complet
ely

(@) Avoid possible black-boxing of the IT
system caused by outsourcing the system by
developing detailed specifications on our own

for the job outsourced

(b) It is outsourcing companies that provide
solutions using IT systems (i.e. Our company

heavily depends on outsourcing companies)

(c) System development often fails to
progress as contracted, and it often costs
higher and does not complete by the delivery

date.

(d) For our company, outsourcing companies
are business partners to promote work
restructuring and efficiency (can exchange

opinions with each other)

(e) For our company, outsourcing companies

are  technology advisors who are

knowledgeable about technical trend of IT

system
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(SA for each of (a) to (g))

2.Describes
very well

3.Describes | 4.Does 5.Does

well not not
describ | describe
e very | atall
well

3 4 5

3 4 5

3 4 5

3 4 5

3 4 5




(f) Outsourcing is necessary for cost reduction

(f) Our company has the specifications of the

job clarified before outsourcing

() Our company often accepts system
proposals from an outsourcing company

without making any revision.
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